Algebra 2 Notes


Name:  ________________

Section 6.5 Square Roots
The side length of a square is the square root of its area.  This relationship is shown by a radical symbol, __________.  The number or expression under the radical symbol is called the ____________________.  The radical symbol indicates only the positive square root of a number, called the ___________________ root.  To indicate both the positive and negative square roots of a number, use the plus or minus sign, ____.
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Numbers such as 
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 that have integer square roots are called ______________________________.  Square roots of integers that are not perfect squares are ____________________ numbers.  You can estimate the value of these square roots by comparing them with perfect squares.  For example, 
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Example 1:
Estimate to the nearest tenth.  Use your calculator.

	a.  
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Before we go any further, it would be helpful if you can recognize perfect squares.  Fill in the table below…
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Properties of Square Roots

	For 
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	Product Property of Square Roots:

The square root of a product is equal to the product of the square roots of the factors.
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	Quotient Property of Square Roots:

The square root of a quotient is equal to the square roots of the dividend and the divisor.
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Now, a trick for getting a list of all the pairs of positive integers that multiply to equal 80, for example, you can type 
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x

 into 
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 on your calculator.  This should help you quickly find the LARGEST perfect square factor of 80 when simplifying 
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.  Trust me, this trick saves time over using prime factorization!

Example 2:
Simplify each expression.  NO DECIMALS.  Give answer in simplest radical form.

	a.  
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If a fraction has a denominator that is a square root, you can simplify it by ________________________ the denominator.  To do this, multiply both the numerator and denominator by a number that produces a perfect square under the radical sign in the denominator.  So, for example, if the denominator is 
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, I will multiply by 
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 to rationalize the denominator.

Example 3:
Simplify by rationalizing the denominator.

	a.  
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Square roots that have the same radicand are called ________________________________________.

	Like Radicals
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Example 4:
Add or subtract.  Leave your answer in simplest radical form.

	a.  
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